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Honors Geometry Summer Packet

This packet should help you prepare for Honors Geometry at Trumbull High School. Please complete
these problems before the first day of school. This packet is MANDATORY. The material within this

packet will be assessed within the first week of school.

Simplify each expression.
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Solve for the variable.
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19, 12(2k+11)=12(2k +12)
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Solve each system of equations.
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Solve each quadratic by factoring.

39. y*-9=0
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Use rectangle ABCD to answer examples 42-46.

A B
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D x+6 ¢

46. Write the equation that shows the perimeter of the rectangle is 48 inches.

Lo XA bAYlo Ay = 1D

e 2= 40
47. Solve for x.
Uy 2= 1D
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48, Find the area of the rectangle.

guen = X XTe)
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49. Based on the figure above, write the equation that shows the area of the rectangle is 72 square

inches.
Ta= klxxb) = ¥x3+bx

50. Find the dimensions of the rectangle based on your findings in #48.
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In examples #61 and §2, solve using one variable.

%1. The sum of two numbers is 16. The greater of the two numbers is one more than four times the
lesser number.
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$2. The width of a certain rectangle is 2 meters greater than half the length. Four times its length is
26 meters greater than its perimeter. What are the dimensigns of the rectangle? &b
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In examples #58 and Sﬂ, write a system of two equations with two variables and solve each problem.
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%3. The difference between three times 6?1e number and a lesser one is 37. The sum of the greater
number and twice the lesser number is 38. Find the numbers.
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4. The length of a rectangular garden is three times the width. If the perimeter is 32 meters, what
are the dimensions of the garden?

4= 2 X=3(%)
L ga-ateaw

23 = W N



